

GOVERNMENT OF PAKISTAN DIRECTORATE OF INTELLIGENCE & INVESTIGATION (CUSTOMS) RANGE OFFICE, 5-SETHI COLONY, G.T. ROAD RAHWALI GUJRANWALA



Dated:16.06 .2023

C. No. CII/Admn/Grw/Auction/01/2021/575

Shahzada Waqas, M/s. Com Services, 187-B, BOR Society, (Johar Town), **LAHORE.** (0348-1000001)

Subject: AUCTION SCHEDULE OF CONFISCATED GOODS.

Please refer to the subject cited above.

2. The following seized / confiscated goods are ripe for auction. You are advised to hold auctions at Intelligence & Investigation-Customs, Range Office, 5-Sethi Colony, G.T. Road, Rahwali, Gujranwala, on 21.06.2023 at 10:00 a.m on as is where is basis. The left over lots of Range Office, Gujranwala will be auctioned at Regional Office, Lahore on 24.06.2023. Please advertise the dates and time in the newspapers under intimation to this office:-

S. #	D.A. #	Lot #	Description of Goods	Quantity
1	34/2021	08/2022	F/O Silk cloth in rolls (boski color) =08 rolls =471 Yds.	
			F/O Silk cloth in rolls (black color) =04 rolls = 240 Yds.	136 Kgs.
			F/O Silk cloth in rolls (off white color) =04 rolls = 240 Yds.	
			F/O Parda cloth of different length = 11 Pieces = 184 Yds.	153 Kgs.
2	18/2022	21/2022	Ladies cloth different color in Rolls	658 Kgs
			Prada/Curtain cloth different designed	697 Kgs
3	25/2022	23/2022	Panasonic Juicer Blender 3 in 1 Made in Malaysia 18 Cartons each carton contain 03 pcs	54 Pcs.
4	35/2022	29/2022	Foreign origin Parda cloth, 21 Rolls 776 Kgs 1550 Yards	1550 Yds.
5	37/2020	01/2023	F/O Ladies plain Art Silk Cloth of assorted colors in rolls. Total number of rolls=500 Nos. Each roll weighing 8 Kgs (approx) and each roll of 72 yards F/O Parachute cloth in Rolls of assorted sizes, total rolls 15	36000 Yards. 4000 Kgs. 700
5			Nos. =200 Kgs. F/O Flexible Jercy cloth of assorted sizes, total rolls 20 Nos.	Yards 1100
			= 280 Kgs.	Yards
			F/O Parda / Sofa cloth packed in 03 bundles, each bundle having 20 pieces and weighing 70 Kgs (approx) = 210 Kgs.	60 pieces 210 Kgs.
6	07/2022	04/2023	F/O iron heads of bolts.	1200Kgs.
7	33/2022	07/2023	Royale Blue Rasasi Deodorant Body spray pour home 200 ML made in Dubai pro 05/2021 exp 4/2024, 03 Cartons each cartons contains 08 Box each box contains 12 bottles	288 Pcs.
/			Chastity Rasasi Deodorant Body spray pour home 200 ML made in Dubai pro 05/2021 exp 4/2024, 01 Cartons each cartons contains 08 Box each box contains 12 bottles	96 Pcs.

			Emotion Rasasi Deodorant Body spray pour home 200 ML made in Dubai pro 05/2021 exp 4/2024, 01 Cartons each	96 Pcs.
			cartons contains 08 Box each box contains 12 bottles	
			Blue Lady Rasasi Deodorant Body spray pour home 200 ML made in Dubai pro 05/2021 exp 4/2024, 02 Cartons each	192 Pcs.
			cartons contains 08 Box each box contains 12 bottles Secret Rasasi Deodorant Body spray pour home 200 ML made in Dubai pro 01/2022 exp 12/2024, 02 Cartons each cartons contains 08 Box each box contains 12 bottles	192 Pcs.
		08-A	F/O old and used tyres of different brands and sizes (in	
8	41/2022	/2023	Shredded form)	215 No.
9	45/2022	10/2023	F/o Non PVC Coated Coaxial Cable in shape of Roll, each Roll contains 30 Kgs	60 Rolls = 1800 Kgs.
10	59/2022	13/2023	F/O old & used but service able compressors	7000 Kgs.
11	24/2022	23/2023	Alleppey Green Cardamom, Brand: Emperor Akbar, I/o India, G.wt 11 kgs & Net wt 10 kg of each carton, Mfg date 10/2021 Exp dt 09/2023 F/o Shelled Almond, Premium Australian Almond, Product of Australia, DOP 9/2021 and Exp Dt 9/2023, Net weight of each carton 22.68 kgs Alleppey Green Cardamom, Brand: Emperor Akbar, I/o India, G.wt 11 kgs & Net wt 10 kg of each carton, Mfg date 10/2021 Exp dt 09/2023 F/o Boski Cloth (Arjo China Boski 29) Special Grade, Art No.30104 packed in bales F/o Polyester Parachute Fabric in different colour Packed in Bales, packed in PP Bags, Brand & I/o not shown, each bale contains 160 kgs, California shelled almond, fisher nut almond, Branch-Fisher nut, origin USA, mfg date 8/2021, exp date 8/2023, net weight 22.68 Kgs of each carton, total cartons 20 Nos. F/o Ball Bearing, Both side S.S Seal, Brand NTN, I/o Japan, Art Nos.6212ZZ, 6305ZZ, 6213ZZ, 6208ZZ, 6307ZZ, 6207ZZ, 6306ZZ, F/o Ball Bearing, Both side Rubber Seal, Brand & I/o not shown, Art No. 317-2 RS (Total 500 pcs)	32 Carton = 320 Kgs. 81 Carton = 1837 Kgs. 19 Carton= 190 Kgs. 03 bales= 240 Kgs. 03 bales= 480 Kgs. 20 Carton = 453.6 Kgs. 38 Carton= 872 Kgs. 02 Carton = 38 Kgs.
12	53/2022	24/2023	Khazra skim milk powder, made in Iran, production date 13.8.2022, expiry date 13.8.2024. = 25 bags each bag of 25 Kgs.	625 Kgs.
			Ladies Jacket, Made in China, 02 Bundles	(91 Kgs.)
13	60/2022	26/2023	Bra Elastic Patti, Made in China., 02 Bundle.	(126Kgs.)
-			Ladies Woolen long Jersy, Made in China, 01 Bundle	(74 Kgs.)
14	63/2022	27/2023	Used serviceable Iron steel sheets (C.R.C), Japan origin	12,708
- '	00, 1011	1.71013	=12,708 Kgs.	Kgs.
15	66/2022	28/2023	Eye shadow colour for bridal & party makeup, made in China, each kit of 100 grams, 06 cartons, each carton contains 144 colour kits, production 09/2021, expiry 09/2025, Seven Cool, Professional make up powder foundation, made in China, net weight 34 Kgs per carton, 90 box in one carton,	864 Kits 86.4 Kgs. 540 Pcs.
			6 piece in one box, 01 carton. Fashion makeup kit, eye shadow, lipstick & blusher two way	34 Kgs. 864 kits.

			cake, made in China, 03 cartons, each carton contains 288 pcs, net weight 100 gram, production date 04.3.2022, expiry 03.03.2027. Makeup kit, only touch cosmetics, made in China, 03	86.4 Kgs.
			cartons, net weight 150 grams, DOP 02/2022, DOE 02/2027, 144 piece in one carton. Eyeshadow make up kit, made in China, 03 cartons, each	64.8 Kgs.
			carton contains 216 pieces, net weight 100 grams, DOP, 06/2022, DOE 06/2027.	648 kits 64.8 Kgs.
			Hlida Beauty Brand, mirror nail polish, made in China, item No.H025, 24 piece in one packet, 02 cartons, each carton contains 480 piece, net weight of one carton=32 Kgs	960 Pcs. 64 Kgs.
			BB, Only Touch, make up kit, made in China, net weight 100 grams, DOP 02/2022, DOE 02/2027, 03 cartons, each carton contains 288 pcs.	864 Kits 86.4 Kgs.
			Only touch, make up kit, made in China, net weight 100 grams, DOP 05/2022, DOE 05/2027, 03 cartons, each carton contains 216 pieces.	648 Kits 64.8 Kgs.
			Rivej UK Brand, whitening and vanishing sunblock, made in China, 120 ml, DOE 15.5.2026, 01 carton = 192 pcs.	192 Pcs. 23.04 liters
			Aily Brand make up kit, made in China, DOP 03.2021, DOE 03/2026, 01 carton = 24 pcs.	24 Pcs. 24 Kgs.
			Miss Clement, suny 48-color wet eye shadow for bridal & party make up, made in China, net weight 20 grams, 05 cartons, 12 piece in one box, 06 box in one carton, DOP 11/2021, DOE 11/2026.	360 Pcs. 7.200 Kgs.
			Miss Just Gold Shiny 20-color wet eye shadow for bridal & party make up, made in China, net weight 18 grams, DOP 03/2022, DOE 03/2027, 01 carton, 12 box in one carton and 12 piece in one box.	144 Pcs. 2.592 Kgs.
			Dr. Rashel, Vitamin C, Brightening & anti aging face serum, DOE 28.8.2026, 192 piece in one carton, Total 02 cartons, net weight of each carton=9.6 Kgs net	384 Pcs. 19.2 Kgs.
			F/O Remote control, devices of TVs, 04 cartons.	1425 Pcs.
			KADA Brand 850G instrument Gas Pump, made in China, 06 cartons, each carton contains 12 piece.	72 Pcs.
16	68/2022	30/2023	Suzuki Alto Car, Reg. No. AMA-928-Islamabad (Fake), Model 2015, Chassis number HA36S-221775, Power 660 CC	01 No.
			F/O YDY Brand Next Perfume Body Spray, 75 ml, manufacturing date 19.9.2022, expiry date 19.9.2027, made under licence Imperial Scants Paris / France, 10 cartons each carton of 144 Pcs.	1440 Pcs.
17	74/2022	32/2023	F/O Vaseline Jelly intensive care 200 ml, expiry date 25.8.2025, manufactured by Uni liver South Africa, 06 cartons each carton of 144 pcs = 72 Dozen	864 Pcs.
_,			Tooth Paste Sensodyne brand, extra fresh 100 ml, made in U.K, 17 cartons each carton of 12 dozen = 204 Doz.	2448 Pcs.
			F/O Oil Filter (original oil filter) JOF-105, Brand Johnson, P/No.16510-82703, 20 cartons each carton of 24 pcs.	480 Pcs.
			F/O Oil Filter (original oil filter) JOF-104, Brand Johnson, P/No.9.28.010.00, 15 cartons each carton of 12 pcs.	180 Pcs.

ſ.	1			
18	76/2022	33/2023	F/o Parachute Lap Top / School Bags of assorted colours and designs, Net weights 37 Kgs.	37 Kgs
			F/o Premium Quality Cumin Seed, Brands Sunflower & JAE Gold, Each Bags Net Weight 25 Kgs x 10 Bags	250 Kgs
19	77/2022	34/2023	Ceramic Tiles in assorted colours and designs, Shirkat Kashi, Khayam, Meybod Tile Co., Iran Size 300mm x 600mm (30cm x 60cm), Thickness 9mm Tiles per box 9 No, each box quantity 1.62 Square Meter	428 Boxes 693.36 Square Meter
20	78/2022	35/2023	Crockery, Larous Puzzled Dishes (Glassware) D.G brand, Since 1982, Made in Iran Each ctn 6 pcs of 10 Kgs Net Wt. (Two cartons broken condition)	126 Ctns 744 Pcs (1240 Kgs.)
			Crockery, Haven Glass brand, Saucers (Glassware), Made in Iran Each Ctn 96 pcs of 16 Kgs Net Wt.	50 Ctns. 4800 Pcs (800 Kgs)
			Wipes, HJohnsons brand, Made in U.K each Ctn 10 Kgs Net Wt. Pro date 2021 Expiry date 2024	30 Ctns (300 Kgs)
			Lady Pro Sanitary Pads, Ultra Thin each bag of 17 Kgs Net Wt. Products of Skin Pro Cosmatics U.K	12 Bags 204 Kgs.
			Meenu Beauty Eyelash Adhesive, Made in China Each Ctn 100, small boxes of 6 pcs (7g net weight tube) 17 Kgs Net Wt.	07 Ctns (119 Kgs)
			Skim Milk Powder Instant, Batch No.01072 Made in Iran, Pro date 30.09.2022 Exp date 30.09.2024 each bag of 25 Kgs Net Wt.	15 Bags (275 Kgs.)
	36/2022	36/2023	Atlas Almond w/o shell Pratt Industries creating Green Jobs Across America USA, 08 cartons each cartons contains 22.68 Kgs. 181.44 Kgs.	08 cartons=
21			New Tyre Kapsen comfort Max A/S Radial Tubeless size 155/70 R-12 73T Made in China	10 Nos.
			New Tyre link Radial Tubeless size 145/70 R-12, Made in china	08 Nos.
			New Tyre Long March Radial Steel Tube Type size 11.00 R20 18 PR Made in china	02 Nos.
22	51/2012	37/2023	Poly Ethylene, National Petrochemical Company, Made in Iran, GR:HD 5219 DT 12.07.2012, HF 4760 DT 18.07.2012, LLDPE DT 13.06.2012, each bag contains 25 Kgs of weight	1125 bags = 28125 Kgs.



Copy for kind information to:-

- 1. The Director (Hqrs), Intelligence and Investigation-Customs, Islamabad.
- 2. The Director, Intelligence and Investigation -Customs, Lahore.
- 3. The Second Secretary (FATE-Website Matters), Room No.561, FBR, G-5, Islamabad.